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B.Sc. Pt. | Examination
Organic Chemistry
Paper - CH-02

Time : 3 Hours ] [ Max. Marks :- 50

Note:

ﬁi@T :

Note:

ﬁi@T :

The question paper is divided into three sections A, B and
C. Write answers as per the given instructions.

T U U ‘37, ‘¥’ 3R Q@ i @uel # fAfid g1 ude
Gus & MSATTAR ¥l & IR AR

Section - A 10x1=10
Very Short Answer Type Questions (Compulsory)

Answer all questions. As per the nature of the question,
you delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 1 mark.
ug - ‘3’
3T ofg TR U9

Tt TeAl & ITR QINTYI 31T 30 IR DI FEATTAR T
91eg, T a1ag T 3ffeerad 30 areql § gRAfHa Hhifom| niew
U9 U 3P Pl g

What do you mean by carbocation?

PIEIheT I Y T I 2 ?
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Draw the newmann projection formula of fully eclipsed
conformation of n-butane.

n - IS & qulf IR FHUUT BT =AM T&IU I S1SY

(iii) Write the reaction of ethene with HCI.

weflF &t HCI I 3rfferar forRau|

(iv) Calculate the formal change on NH,.

(v)

NH, &R (s 3frder bl T g

What do you mean by racemization?

WA PR I 319 T FHed g ?

(vi) Write the different types of free radicals.

qad gl & [ ghR fIRau)

(vii) What is wheland intermediate?

Rleivg Hegadl T gBidT & ?

(viii) What is homolytic fission.

JHIYT fagueT a1 BT 2 ?

(ix) What is banana bond?

(x)

Note:

ﬁé@T :

hell g9 T 8IT 82

Draw Kekule structures of benzene.
SSie i hepel AT IS

Section - B 4XxX5=20

Short Answer Questions
Answer any four questions. Each answer should be in
maximum up to 200 words. Each question carries 5 marks.

(Tvs - 9)
g ITRIY Y&

fhgl IR T & IR ST MY 3T IR Dl 3Aep J
31 200 orsat d gRAfAT BT UdAd U9 5 37! a7 ¢
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What are the differences between intermediate and transition
state?

Hegad! 3R HhHTUT el H a7 3R g ?
Draw the molecular orbital diagram of benzene.
59 & anfoges e i SRl

Explain geometrical isomerism.

SR FHTEIed FHSSU

Describe molecular chirality in allenes.

VellAl § anfoes fpvetdT @1 FwsTEu

Explain Bayer’s strain theory.
EUNECIRECIRCICAGEEIRY

What is Huckel’s rule? Explain with examples.
gehel T I T 8 2 ITERYT Al FHSATSY

Although 1, 3- butadiene possesses two double bonds, it is
less reactive than alkene. Explain with the help of molecular
orbital structures.

1,3 -gCreiRA | § fg 99 8, iR+ Yechi=1 &t o o I8 A
fopanefic 81 39 MU hefds ARTT Sl AT W AHATSU|

Explain halogenation of alkanes with its mechanism.

Tepl o gellSi-epRuT I fEpannfafer Afga Aemsul

Section-C 2xX10=20
Long Answer Questions

Note: Answer any two questions. You have to delimit your each

answer in maximum up to 500 words. Each question
carries 10 marks.
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(Tvs - ¥)
e ST 99T

fAder : gl S U9l & IR SITYI JTUehT 319 IR Dl 31 A

10)

11)

12)

13)

31t 500 reql H URHIT BRI T U7 10 37 BT ¢
Write short notes on the following:
71 oR férg fewuft forRay: -
a) Benzyne/ Sfotre
b) Rearrangement reactions / A= 3AfHfehamy
c) Carbene/PEH

d) Nitrene /E¢H

Write the formula, uses and preparation of the following:-

T T g1, SuarT 3R g Y IRy forRaw-

(i) DDT

(i) BHC

(iii) Chloroform

(iv) PVC

Write short notes on the following:—

=1 o g fewoft foRay-

(a) Wurtz reaction / ST 31ffchar

(b) Dickmann method / St&H fafer

(c) Friedel-crafts acylation reaction /
PrecT—shTores VRifeefianeor arfrforan

Write short notes on the following —

=1 oR g fewuft foRay -

a) Walden inversation / alee Udia

b) Chiral carbon / el e

c) Enantiomers and diastereomers /

yfaferg vt 3R faafvg Femaad
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